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Jee Main 5 Years At A Glance

1. Phenol on treatment with  in the presence of  followed by

acidification produces compound X as the major product. X on treatment

with  in the presence of catalytic amount of 

produces

A. 

B. 

C. 

CO2 NaOH

(CH3CO)2O H2SO4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XgrcM8rlvZPg


D. 

Answer: A

Watch Video Solution

2. Phenol reacts with methyl chloroformate in the presence of  to

form product A. A reacts with  to form product B. A and B are

respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaOH

Br2

https://dl.doubtnut.com/l/_XgrcM8rlvZPg
https://dl.doubtnut.com/l/_CLSBcVRZK5F0
https://dl.doubtnut.com/l/_dItLwBIXtS7c


3. The major product formed in the following reaction is: 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

4. The major product of the following reaction is: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_dItLwBIXtS7c
https://dl.doubtnut.com/l/_OX3f0XyqDwUy


D. 

Answer: A

View Text Solution

5. Which of the following , upon treatment with tert-BuONa followed by

addition of bromine water , fails to decolourise the colour of bromine ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OX3f0XyqDwUy
https://dl.doubtnut.com/l/_FDhnlUQzT2EA


6. The gas evolved on heating  in methanol is :

A. Methane

B. Ethane

C. Propane

D. 

Answer: A

Watch Video Solution

CH3MgBr

HBr

7. Allyl phenyl ether can be prepared by heating:

A. 

B. 

C. 

D. 

C6H5Br + CH2 = CH − CH2 − ONa

CH2 = CH − CH2 − Br + C6H5ONa

C6H5 − CH = CH − Br + CH3 − ONa

CH2 = CH − Br + C6H5 − CH2 − ONa

https://dl.doubtnut.com/l/_GsbZ0onapr6Z
https://dl.doubtnut.com/l/_Mvh8AgWj6jjf


Answer: A

Watch Video Solution

8. In the Victor Meyer's test, the colours given by  and  alcohols

are respectively 

A. Red, colourless, ble

B. Red, blue, colourless

C. Colorless, red, blue

D. Red, blue, violet

Answer: B

Watch Video Solution

1∘ , 2∘ 3∘

:

9. Which one of the following substituents at para-position is most

effective in stabilizing the phenoxide 

https://dl.doubtnut.com/l/_Mvh8AgWj6jjf
https://dl.doubtnut.com/l/_ptsVFuGznCQO
https://dl.doubtnut.com/l/_vY0w0be8ak42


 ion?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

−CH3

−OCH3

−COCH3

−CH2OH

10. Williamson synthesis of ether is an example of:

A. Nucleophilic addition

B. Electrophilic addition

C. Electrophilic substitution

D. Nucleophilic substitution

Answer: D

https://dl.doubtnut.com/l/_vY0w0be8ak42
https://dl.doubtnut.com/l/_xghQAFFmJKHp


Watch Video Solution

11. The most suitable reagent for the conversion of 

 is

A. 

B. 

C. 

D.  (Pyridinium Chlorochromate)

Answer: D

Watch Video Solution

R − CH2 − OH → R − CHO

KMnO4

K2Cr2O7

CrO3

PC

12. Sodium phenoxide when heated with  under pressure at 

yeilds a product which on acid acetylation produces C 

 

The major product C would be

CO2 125∘C

https://dl.doubtnut.com/l/_xghQAFFmJKHp
https://dl.doubtnut.com/l/_uH70vPlTRJMJ
https://dl.doubtnut.com/l/_WqTSHpf6s4Y4


Exercise 1 Concept Builder Topicwise Topic 1 General Characteristics Of

Alcohols Phenols And Ethers

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1. Methylated spirit is 

A. methanol

B. 

C. methanoic acid

D. methanamide

:

methanol +  ethanol

https://dl.doubtnut.com/l/_WqTSHpf6s4Y4
https://dl.doubtnut.com/l/_lAfnjYVRMbUO


Answer: B

Watch Video Solution

2. The IUPAC name of  is :

A. 1, 1 - dimethyl -1, 3 - butanediol

B. 2 - methyl - 2, 4 - pentanediol

C. 4 - methyl - 2, 4 - pentanediol

D. 1, 3, 3 - trimethyl - 1, 3 - propanediol

Answer: B

Watch Video Solution

CH3 − CH
|  
OH

− CH2 −

CH3

|  

C 
|  
OH

− CH3

3. Carbolic acid is

A. phenol

https://dl.doubtnut.com/l/_lAfnjYVRMbUO
https://dl.doubtnut.com/l/_KN6YL0BXUA4u
https://dl.doubtnut.com/l/_pZv17yJs0h1w


B. phenyl benzoate

C. phenyl acetate

D. salol

Answer: A

Watch Video Solution

4. Alcoholic beverages contain

A. isopropyl alcohol

B. n - propyl alcohol

C. ethyl alcohol

D. methyl alcohol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pZv17yJs0h1w
https://dl.doubtnut.com/l/_YyXGLmhCNwQ9
https://dl.doubtnut.com/l/_WWuushRlDrIh


5. Why is the  bond angle in alcohols slightly less than the

tetrahedral angle whereas the C-O-C bond angle in ether is slightly

greater?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C − O − H

90∘

104∘

120∘

180∘

6. Which of these is a reducing agent ?

A. 

B. 

C. 

CrO3 /H +

KMnO4

LiAlH4

https://dl.doubtnut.com/l/_WWuushRlDrIh
https://dl.doubtnut.com/l/_VAiw4JBILRJz


D. 

Answer: C

Watch Video Solution

O3

7. Migratory aptitude of the following in decreasing order is 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

a > c > b > d

a > d > b > c

a > d > c > b

b > c > a > b

https://dl.doubtnut.com/l/_VAiw4JBILRJz
https://dl.doubtnut.com/l/_A8YFSmZAAwP8


Exercise 1 Concept Builder Topicwise Topic 2 Preparation And Properties Of

Alcohols

8. Which one of the following statements is not correct?

A. Alcohols are weaker acids than water

B. Acids strength of alcohols decreases in the following

C. Carbon - oxygen bond length in methanol,  is shorter than

that of  bond length in phenol.

D. The bond angle  in methanol is .

Answer: C

Watch Video Solution

RCH2OH > R2CHOH > R3COH

CH3OH

C − O

108.9∘

1. Consider the following alcohols, 

 

https://dl.doubtnut.com/l/_8qKPDXQ7zRRE
https://dl.doubtnut.com/l/_gfzHZvqi97pd


The order of decreasing reactivities of these alcohols towards

nucleopohilic substitution with HBr is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

III > I > IV > II

III > I > II > IV

I > III > IV > II

I > III > II > IV

2.  

Product of the reaction is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_gfzHZvqi97pd
https://dl.doubtnut.com/l/_5gdrS49YQ2UP


D. 

Answer: B

View Text Solution

3. Which are not cleaved by ? 


I : glycerol II : glycol 


III : 1, 3-propenediol  IV : methoxy - 2 - propanol

A. I, II, III, IV`

B. I, II

C. II, III

D. III, IV

Answer: D

Watch Video Solution

HIO4

  

  

https://dl.doubtnut.com/l/_5gdrS49YQ2UP
https://dl.doubtnut.com/l/_MPnOOn8RVzY3
https://dl.doubtnut.com/l/_ydGCL3m6iAQ9


4. Which of the estes shown, after reduction with  and aqueous

workup, will yield two molecules of only a single alcohol ?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

LiAlH4

CH3CH2CO2CH2CH3

C6HH5CO2CH2C6H5

C6H5CO2C6H5

5. For the following reaction, select the statement that best describes the

change. 

A. The alcohol is oxidised to an acid, and the  is reduced.

B. The alcohol is oxidized to an aldehyde, and the  is reduced.

RCH2OH + PCC[C5H5NH +ClCrO−
3 ] →

Cr(V I)

Cr(V I)

https://dl.doubtnut.com/l/_ydGCL3m6iAQ9
https://dl.doubtnut.com/l/_QYbjmUd7gnNH


C. The alcohol is reduced to an aldehyde, and the  is oxidized.

D. The alcohol is oxidized to a ketone, and the  is reduced.

Answer: B

Watch Video Solution

Cr(III)

Cr(V I)

6.  

Product (D ) in the above reaction is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_QYbjmUd7gnNH
https://dl.doubtnut.com/l/_G6rQdBSyUage
https://dl.doubtnut.com/l/_25Q4UAiCckSN


7.  

Product (B) of the above reaction is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

8. Iodoform can be obtained on warming  and iodine with :

A. 

B. 

C. 

NaOH

CH3CH2CH(OH)CH3

(CH3)2CH

O

∣ ∣

CC2H5

CH3 − C
∣ ∣
O

− OCH3

https://dl.doubtnut.com/l/_25Q4UAiCckSN
https://dl.doubtnut.com/l/_00kT5voOo3lI


D. 

Answer: A

Watch Video Solution

(CH3)2CHCH2OH

9. Which of the following reactions will yield propan-2-ol ? Select the right

answer from (a), (b), (c) and (d) 

I.  


II.  


III.  


IV. 

A. I and II

B. II and III

C. III and I

D. II and IV

Answer: A

CH2 = CH − CH3 + H2O
H +

−−→

CH3 − CHO
CH3MgI /H2O

−−−−−−−−→

CH2O
C2H5MgI

−−−−−−−→
H2O

CH2 = CH − CH3
Neutral KMnO4

−−−−−−−−−→

https://dl.doubtnut.com/l/_00kT5voOo3lI
https://dl.doubtnut.com/l/_zsQOSisciMGw


Watch Video Solution

10. Formation of which compound given below from 1- butanol needs an

oxidising agent?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2Br

CH3CH2CH2CH = O

(CH3CH2CH2CH2)2O

CH3 − CH2CH = CH2

11. An industrial method of preparation of methanol is

A. catalytic reduction of carbon monoxide in presence of

ZnO − Cr2O3

https://dl.doubtnut.com/l/_zsQOSisciMGw
https://dl.doubtnut.com/l/_dZ2Hxh4D2xZ5
https://dl.doubtnut.com/l/_pVSac5dYvcBc


B. by reacting methane with steam at  with nickel catalyst

C. by reducing formaldehyde with lithium aluminium hydride

D. by reacting formaldehyde with aqueous sodium hydroxide solution

Answer: A

Watch Video Solution

900∘C

12.  


In the above reaction, the leaving group is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3CH2OH + HCl
ZnCl2
−−−→ CH3CH2Cl + H2O

OH −

H2O

HO −
−
ZnCl2

H3O
+

https://dl.doubtnut.com/l/_pVSac5dYvcBc
https://dl.doubtnut.com/l/_kigslhcdjSaW


13.  

Which carbocation is involved in the above reaction?

A. 

B. 

C. Both

D. None

Answer: C

View Text Solution

14. Rate of dehydration of alcohols follows the order

A. 

B. 

C. 

2∘ > 1∘ > CH3OH > 3∘

3∘ > 2∘ > 1∘ > CH3OH

2∘ > 3∘ > 1∘ > CH3OH

https://dl.doubtnut.com/l/_kigslhcdjSaW
https://dl.doubtnut.com/l/_uYCNuYbETCgx
https://dl.doubtnut.com/l/_FLqz2UECWfVO


D. 

Answer: B

Watch Video Solution

CH3OH > 1∘ > 2∘ > 3∘

15. Reagent used to convert allyl alcohol to acrolein is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO2

H2O2

OsO4

KMnO4

16.  reacts fastest withHBr

https://dl.doubtnut.com/l/_FLqz2UECWfVO
https://dl.doubtnut.com/l/_xpAemzSB6jsx
https://dl.doubtnut.com/l/_SHbqdNK91GLD


A. 2 - Methylpropan -1- ol

B. 2 - Methylpropan - 2 - ol

C. propan - 2- ol

D. propan - 1 - ol.

Answer: B

Watch Video Solution

17. The best method to prepare cyclohexene from cyclohexanol is by using

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Conc. HCl + ZnCl2

Conc. H3PO4

HBr

Conc. HCl

https://dl.doubtnut.com/l/_SHbqdNK91GLD
https://dl.doubtnut.com/l/_hz3bUt2hrxOB


18. Acid catalysed hydration of alkenes except ethene leads to the

formation of

A. primary alcohol

B. secondary or tertiary alcohol

C. mixture of primary and secondary alcohols

D. mixture of secondary and tertiary alcohols

Answer: B

Watch Video Solution

19. Which of the following reagent will convert glycerol to acrolein ?

A. 

B. 

C. 

P2O5

Conc. H2SO4

Anhydrous CaCl2

https://dl.doubtnut.com/l/_hz3bUt2hrxOB
https://dl.doubtnut.com/l/_ooQcpJKlOSmY
https://dl.doubtnut.com/l/_HetV3XMpLymJ


D. 

Answer: D

Watch Video Solution

KHSO4

20. Which of the following alcohols is least soluble in water ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3OH

C3H7OH

C4H9OH

C10H21OH

21. Which of the following will not give iodoform test?

https://dl.doubtnut.com/l/_HetV3XMpLymJ
https://dl.doubtnut.com/l/_oH7nh3QVfptr
https://dl.doubtnut.com/l/_7f0MKOfZUzVV


A. Isopropyl alcohol

B. Ethanol

C. Ethanal

D. Benzyl alcohol

Answer: D

Watch Video Solution

22. Ethyl alcohol can be prepared from grignard reagent by the reaction

of?

A. 

B. 

C. 

D. 

Answer: A

HCHO

R2CO

RCN

RCOCl

https://dl.doubtnut.com/l/_7f0MKOfZUzVV
https://dl.doubtnut.com/l/_pmHOvgiVAOdJ


Watch Video Solution

23. Glycerol is more viscous than ethanol due to 

A. high molecular weight

B. high boiling point

C. many hydrogen bonds per molecule

D. Fajan's rule

Answer: C

Watch Video Solution

:

24. Ethanol and dimethyl ether from a pair of functional isomers. The

boiling point of Ethanol is higher than that of dimethyl ether, due to the

presence of

A. H - bonding in ethanol

https://dl.doubtnut.com/l/_pmHOvgiVAOdJ
https://dl.doubtnut.com/l/_D6yJ1KIqsfaZ
https://dl.doubtnut.com/l/_wUdswiP4W6wr


B. H - bonding in dimethyl ether

C.  gorup in ethanol

D.  group in dimethyl ether

Answer: A

Watch Video Solution

CH3

CH3

25. When glycerol is treated with excess of Hl, the product formed

is…………………

A. glycerol triiodide

B. 2 - iodopropane

C. allyl iodide

D. propene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wUdswiP4W6wr
https://dl.doubtnut.com/l/_eWTCGeQMBcAw


26. Which of the following compounds can be used as antifreeze in

automobile radiators?

A. Methyl alcohol

B. Glycol

C. Nitrophenol

D. Ethyl alcohol

Answer: B

Watch Video Solution

27. In the following sequence of reaction, the product C is 

A. Acetone

B. Methane

CH3 − Br
KCN
−−→ A

H2O
+

−−−→ B
LiAlH4

−−−→
Ether

C

https://dl.doubtnut.com/l/_eWTCGeQMBcAw
https://dl.doubtnut.com/l/_wcBqEa1XYDBX
https://dl.doubtnut.com/l/_8jBIabL9ytQY


C. Acetaldehyde

D. Ethyl alcohol

Answer: D

Watch Video Solution

28. Number of isomeric alcohols of molecular fomula of  which

give positive iodoform test is

A. two

B. three

C. four

D. five

Answer: C

Watch Video Solution

C6H14O

https://dl.doubtnut.com/l/_8jBIabL9ytQY
https://dl.doubtnut.com/l/_bHFtaHw4ZjRN
https://dl.doubtnut.com/l/_DsY1MpDvVnRR


29. Which of the following reaction  can be used for the preparation of

alkyl halides? 

(I)  


(II)  


(III)  


(IV) 

A. (I), (III) and (IV) only

B. (I) and (II) only

C. (IV) only

D. (III) and (IV) only

Answer: A

Watch Video Solution

(s)

CH3CH2OH + HCl
anhy .ZnCl2

−−−−−−→

CH3CH2OH + HCl →

(CH3)3COH + HCl →

(CH3)2CHOH + HCl
anhy .ZnCl2

−−−−−−→

30. Which of the following is not the product of the dehydration of  ?

A. 

https://dl.doubtnut.com/l/_DsY1MpDvVnRR
https://dl.doubtnut.com/l/_gQqEQGaSfpXn


B. 

C. 

D. 

Answer: B

View Text Solution

31.  The compound X is

A. 

B. 

C. 

D. Both (b) and (c )

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_gQqEQGaSfpXn
https://dl.doubtnut.com/l/_xYfKhi2kWJdx
https://dl.doubtnut.com/l/_4yUlskl2J540


32. Which carbocation is more likely to be formed in the dehydration of

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

33.  Major product is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_4yUlskl2J540
https://dl.doubtnut.com/l/_pRtawfvYtTCn


Answer: C

View Text Solution

34.  

The above reaction is an example of

A. regiospecific

B. regioselective

C. stereoselective

D. stereospecific

Answer: B

View Text Solution

35. The most probable product in the reaction given below is 

https://dl.doubtnut.com/l/_pRtawfvYtTCn
https://dl.doubtnut.com/l/_zR2k1GXUzh5y
https://dl.doubtnut.com/l/_EYOBYDQOSzDY


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

36. The precursor Carbocation to the product in the following reaction is 

A. 

B. 

C. Either of the two

D. None of these

Answer: A

https://dl.doubtnut.com/l/_EYOBYDQOSzDY
https://dl.doubtnut.com/l/_UsLuuUj3WxBC


Exercise 1 Concept Builder Topicwise Topic 3 Preparation And Properties Of

Phenols

View Text Solution

37.  

The driving force in the above reaction is

A. conversion of  carbocation to  carbocation.

B. conversion of  carbocation to  carbocation.

C. releif in steric strain due to expansion of ring.

D. both a & c.

Answer: C

View Text Solution

1∘ 2∘

1∘ 3∘

https://dl.doubtnut.com/l/_UsLuuUj3WxBC
https://dl.doubtnut.com/l/_stWJzkuUIhk0


1. The major reason that phenol is a better Bronsted acid than

cyclohexanol is that :

A. it is a beter proton donor.

B. the cyclohexyl group is an electron donating group by induction,

which destabilizes the anion formed in the reaction by resonance.

C. Phenol is able to stabilize the anion formed in the reaction.

D. the phenyl group is an electron withdrawing group by induction,

which stabilizes the anion formed in the reaction.

Answer: D

Watch Video Solution

2. Which of the following compounds will be most easily attacked by an

electrophile?

A. Chlorobenzene

https://dl.doubtnut.com/l/_WHG7KaoObhA9
https://dl.doubtnut.com/l/_Vno7CcJF7t9z


B. Benzene

C. Phenol

D. Toluene

Answer: C

Watch Video Solution

3. Benzyl alcohol is obtained from benzaldehyde by:

A. Perkin's reaction

B. Wurtz reaction

C. Cannizzaro's reaction

D. Claisen's reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vno7CcJF7t9z
https://dl.doubtnut.com/l/_f5wZzLhHewo2
https://dl.doubtnut.com/l/_hvTFsSz2WInQ


4. Phenol is less acidic than

A. acetic acid

B. p - methoxyphenol

C. acetylene

D. ethanol

Answer: A

Watch Video Solution

5. To distinguish between salicylic acid and phenol, one can use:

A. 

B. 

C. 

D. bromine water

NaHCO3  solution

5 % NaOH  solution

neutral FeCl3

https://dl.doubtnut.com/l/_hvTFsSz2WInQ
https://dl.doubtnut.com/l/_bZMQ3bm4HzEW


Answer: A

Watch Video Solution

6. Which one of the following compounds has the most acidic nature ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7. among the following four compounds 

(i) phenol (ii) methylphenol 

https://dl.doubtnut.com/l/_bZMQ3bm4HzEW
https://dl.doubtnut.com/l/_K2hK9f3z96un
https://dl.doubtnut.com/l/_IsvhtZAHuSsm


(iii) meta - nitrophenol (iv) para - nitrophenol 

the acidity order is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ii > i > iii > iv

iv > iii > i > ii

iii > ivi > i > ii

i > iv > iii > ii

8. Reaction of phenol with chloroform in presence of dilute sodium

hydroxide finally introduces which one of the following functional group ?

A. 

B. 

C. 

−CH2Cl

−COOH

−CHCl2

https://dl.doubtnut.com/l/_IsvhtZAHuSsm
https://dl.doubtnut.com/l/_z0wgTeRqLYTi


D. 

Answer: D

Watch Video Solution

−CHO

9. Acid catalysed hydration, hydroboration - oxidation, and

oxymercuration - demercuration will give different products in

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_z0wgTeRqLYTi
https://dl.doubtnut.com/l/_j8bZ5hIaxvkp


10. . The compound P should be

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

11. Which of the following ion is formed in the following reaction ? 

A. 

B. 

C. 

D. All the three

https://dl.doubtnut.com/l/_MYcmyo2e6WfU
https://dl.doubtnut.com/l/_tp5fTFWYBczI


Answer: B

View Text Solution

12. . Here P is

A. 

B. 

C. 

D. Reaction not possible

Answer: C

View Text Solution

13.  

Here P is

https://dl.doubtnut.com/l/_tp5fTFWYBczI
https://dl.doubtnut.com/l/_em5DmE8K28AJ
https://dl.doubtnut.com/l/_N0IbbFi32Y7I


A. 

B. 

C. Both

D. 

Answer: B

View Text Solution

14. 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_N0IbbFi32Y7I
https://dl.doubtnut.com/l/_xwT0MJVpk09u


15. Which of the following is not formed as an inter mediate in the

Reimer- Tiemann reaction between phenol and alkaline chloroform?

A. 

B. 

C. 

D. 

Answer: D

:CCl2 −
2

https://dl.doubtnut.com/l/_xwT0MJVpk09u
https://dl.doubtnut.com/l/_2VycIabj3hYl


View Text Solution

16.  . Here Z is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

17. Identify the product [B] in the following reaction 

A. 

B. 

https://dl.doubtnut.com/l/_2VycIabj3hYl
https://dl.doubtnut.com/l/_uQh3jd253Uah
https://dl.doubtnut.com/l/_j56Nh9lleXG1


C. 

D. 

Answer: D

View Text Solution

18.  


Product (A) in above reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph − CH2 − CH
∣

OH

− CH3
K

−−→
C2H5Br

−−−−→ (A)

Ph − CH2 − CH
|  
OEt

− CH3.  (inversion)

Ph − CH2 − CH
|  
OEt

− CH3,  (retention)

Ph − CH2 − CH
|  
OEt

− CH3,  (racemic)

Ph − CH = CH − CH3

https://dl.doubtnut.com/l/_j56Nh9lleXG1
https://dl.doubtnut.com/l/_ven2TiIWJHpd


19. Which yields isopropyl methyl ether with little or no by-products?

A. 

B. 

C. 

D. All fo these

Answer: A

Watch Video Solution

(CH3)2CHO−Na+ + CH3I →

CH3O
−Na+ + (CH3)2CHI →

(CH3)2CHOH + CH3OH
H2SO4

−−−→

20. What is X in the following reaction? 

A. 

B. 

C. 

CH3OH, H2SO4

CH3OH, CH3O
−

+
Na

H2 SO4  followed by CH3OH
∅

H2

https://dl.doubtnut.com/l/_ven2TiIWJHpd
https://dl.doubtnut.com/l/_GsyWXFOrBBR0
https://dl.doubtnut.com/l/_r27MNFUVSAXQ


D. 

Answer: A

View Text Solution

CH3MgBr/ether followed by H3O
+

21. tert-Butyl ethyl ether can't be prepared by which reaction?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tert−Butanol + ethanol
H +

−−→

tert - Butyl bromide+sodium ethoxide →

Sodium tert - butoxide +ethyl bromide →

Isobutene +ethanol
H +

−−→

https://dl.doubtnut.com/l/_r27MNFUVSAXQ
https://dl.doubtnut.com/l/_2yLFJ9WseWqM


22. Which one is formed when sodium phenoxide is heated with ethyl

iodide?

A. Phenetole

B. Ethyl phenyl alcohol

C. Phenol

D. None of these

Answer: A

Watch Video Solution

23. In Williamson's synthesis, ethoxyethane is prepared by

A. passing ethanol over heated alumina

B. sodium ethoxide with ethyl bromide

C. ethyl alcohol with sulphuric acid

D. ethyl iodide and dry silver oxide

https://dl.doubtnut.com/l/_W1dAwRDFGd6z
https://dl.doubtnut.com/l/_LovoQBIYDa2r


Answer: B

Watch Video Solution

24. Which of the following compounds are soluble in water?

A. Oils & fats

B. Water

C. 

D. 

Answer: A

Watch Video Solution

NaCl

PCl5

25. The reaction of sodium ethoxide with ethyl iodide to form diethyl

ether is termed

https://dl.doubtnut.com/l/_LovoQBIYDa2r
https://dl.doubtnut.com/l/_kO9wKKD0dOBg
https://dl.doubtnut.com/l/_iBX6yByp2roL


A. electrophilic substitution

B. nucleophilic substitution

C. electrophilic addition

D. radical substitution

Answer: B

Watch Video Solution

26. Which of the following product is formed , when ether is exposed to

air :

A. Oxide

B. Alkanes

C. Alkenes

D. Peroxide of diethyl ether

Answer: D

https://dl.doubtnut.com/l/_iBX6yByp2roL
https://dl.doubtnut.com/l/_oEi6Mh8GWj4T


Exercise 2 Concept Applicator

Watch Video Solution

1.  , Product (P) is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2. Identify the major product, 

https://dl.doubtnut.com/l/_oEi6Mh8GWj4T
https://dl.doubtnut.com/l/_ChXlhsBJW8c8
https://dl.doubtnut.com/l/_xzSuVH2Z5CfF


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3. An alcohol of formula  reacts with  to form a

compound having formula . The original alcohol might be :

A. 

B. 

C. 

D. 

Answer: B

C9H12O Na2Cr2O7

C9H10O

https://dl.doubtnut.com/l/_xzSuVH2Z5CfF
https://dl.doubtnut.com/l/_bPK2oRAscTVM


Watch Video Solution

4. An optically active alcohol of formula  produced the following

compound when refluxed with . 


 

The original compound show these properties also : 

 

What is structure of (A) ?

A. 

B. 

C. 

D. both (a) and (b)

Answer: D

View Text Solution

C9H12O2

KMnO4

https://dl.doubtnut.com/l/_bPK2oRAscTVM
https://dl.doubtnut.com/l/_9KOcUeHZu6Xx


5. Succinic acid , Product (C) will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Δ
−−→ (A)

NH3

−−−−−→
Δ

(B)
Br2

−−−−−→
KOH

(C)

 CH2 − CO2H

   |

 CH2 − CH2 − NH2

 CH2 − CO2H

   |

 CH2 − NH2

 CH2 − CO−
2 K +

   |

 CH2 − NH2

 CH2 − CO2H

   |

 CH2 − CH2 − Br

6. The structure of product formed in the reaction given below is: 

A. 

B. 

https://dl.doubtnut.com/l/_chi3mN3jq7wH
https://dl.doubtnut.com/l/_JTJZSn8hPNx5


C. 

D. 

Answer: C

View Text Solution

7. Which of the following compound is differentiated by  as well

as by ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaHCO3

NaOH

https://dl.doubtnut.com/l/_JTJZSn8hPNx5
https://dl.doubtnut.com/l/_OsVdFnBRRO2W
https://dl.doubtnut.com/l/_LpFvOIkrW0fx


8. Which of the following is most reactive towards aqueous ?

A. 1 - Phenyl - 2- propanol

B. 1 - Phenyl - 1 - propanol

C. 3 - Phenyl - 1 - propanol

D. 2 - Phenyl - 1 - propanol

Answer: B

Watch Video Solution

HBr

9. Which of the following alcohols on dehydration with conc.  will

yield But-2-ene ?

A. 

B. 

C. 

D. 

H2SO4

https://dl.doubtnut.com/l/_LpFvOIkrW0fx
https://dl.doubtnut.com/l/_oaTTQrmLIgCG


Answer: B

Watch Video Solution

10. Dehydration of alcohol by conc.  takes place according to

following steps: 

 


The lowest and fastest steps in the above reaction are

A. step 1 is lowest, by 3 is fastest

B. step 2 is lowest while 3 is fastest

C. step 2 is lowest, while 4 is fastest

D. all steps proceed at equal rate

Answer: C

View Text Solution

H2SO4

CH3 −

CH3

|  

C 
|  
H  

− CH2

⋅ ⋅
O
⋅ ⋅
H

H +

−−−→
step - 1

CH3 −

CH3

|  

C 
|  
H  

− CH2

+
OH2

−H2O
−−−→
step - 2

CH3 −

CH3

|  

C 
|  
H  

−

1 ,2 −H −  shift

R
step - 3

arrCH3 −

CH3

|  

C
+  

− CH3
−H +

−−−→
step - 4

CH3 =

CH3

|  

C − CH3

https://dl.doubtnut.com/l/_oaTTQrmLIgCG
https://dl.doubtnut.com/l/_5ntmwzhGYUZ3


11.  Product is

A. 

B. 

C. mixture of (a) and (b)

D. 

Answer: D

View Text Solution

12. During the dehydration of alcohols to alkenes by heating with conc.

, the initiating step is 

A. formation of carbocation

B. elimination of water

C. formation of an ester

H2SO4 :

https://dl.doubtnut.com/l/_5ntmwzhGYUZ3
https://dl.doubtnut.com/l/_aJzjrD7zZoRp
https://dl.doubtnut.com/l/_G3Uq8DIJizHM


D. protonation of alcohol molecule

Answer: D

Watch Video Solution

13. 

A. X and Y are identical mixture of 

B. X and Y are identical mixture of 

C. X is mixture of 

D. Y is mixture of 

Answer: B

Watch Video Solution

B(mix)
conc .HI
←−−−−

2
(CH3)3C − O − CH3

anhydrous HI
−−−−−−−→

1
A(mix)

CH3I and (CH3)3C − OH

CH3OH&(CH3)3C − I

CH3O and (CH3)3C − OH

CH3OH&(CH3)3C − I

14.  is stronger acid than  because of :ClCH2CH2OH CH3CH2OH

https://dl.doubtnut.com/l/_G3Uq8DIJizHM
https://dl.doubtnut.com/l/_ZafrM2RVCsDd
https://dl.doubtnut.com/l/_77lz4dpZnHgA


A.  effect of Cl increases negative charge on O atom of alcohol.

B.  effect of Cl disperses negative charge on O atom to produce

more stable cation.

C.  effect of Cl disperses negative charge on O atom to produce

more stable anion.

D. None of these.

Answer: C

Watch Video Solution

−I

−I

−I

15. 

What are A and B?

A. 

B. 

CH3 − CH = CH2

( i )Hg (OAc ) 2 /H2O

−−−−−−−−−−−−→
( ii )NaBH4

X + Na → Y + CH3Cl → Z + HI

CH3 − CH2 − CH2 − OH&CH3O

CH3 − CH
|  
CH3

− OH&CH3I

https://dl.doubtnut.com/l/_77lz4dpZnHgA
https://dl.doubtnut.com/l/_SdE34Ujvfl9F


C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH
|  
CH3

− OH&CH3OH

CH3 − CH2CH2I&CH3OH

16. What is product of the following sequence of reactions ? 

A. 2, 4 - dimethyl - 3- pentanol

B. 2, 3 - dimethyl - 3- pentanol

C. 2, 3 - dimethyl - 2- pentanol

D. 2, 2 - dimethyl - 3 - pentanol

Answer: B

Watch Video Solution

(CH3)2C = CHCH2CH3

( i )BH3 /THF

−−−−−−−−−→
( ii )H2O2 ,OH −

PCC
−−−−→
CH2Cl2

( i )CH3MgBr

−−−−−−−−→
( ii )H3O+

https://dl.doubtnut.com/l/_SdE34Ujvfl9F
https://dl.doubtnut.com/l/_WLKkJhDq3G1J
https://dl.doubtnut.com/l/_YNKgftEcEF1x


17. Identify the nature of product in the following reaction 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

18. Which electrophile is likely to be formed as an intermediate in the

following electrophilic substitution reaction? 

A. 

B. 

+
CHCl2

+
CHO

https://dl.doubtnut.com/l/_YNKgftEcEF1x
https://dl.doubtnut.com/l/_FEYEj38T2FXv


C. 

D. 

Answer: D

View Text Solution

:
+
CCl2

:CCl2

19. Phenol is

A. a base stronger than ammonia

B. an acid stronger than carbonic acid

C. an acid weaker than carbonic acid

D. a neutral compound

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FEYEj38T2FXv
https://dl.doubtnut.com/l/_U9mVYmCO1CtT


20. What is the structure of the major product when phenol is treated

with bromine water?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

21. The structure of the compound that gives a tribromo derivative on

treatment with bromine water is 

A. 

B. 

C. 

:

https://dl.doubtnut.com/l/_T7f5IRHzqlUL
https://dl.doubtnut.com/l/_o2k7UOnRpecj


D. 

Answer: C

Watch Video Solution

22.  


Name of the above reaction is

A. Liebermann's reaction

B. Phthalein fusion test

C. Reimer - Tiemann rection

D. Schotten - Baumann reaction

Answer: A

Watch Video Solution

Phenol 
NaNO2 /H2SO4

−−−−−−−−−→ B
H2O
−−→ C

NaOH
−−−→ D

https://dl.doubtnut.com/l/_o2k7UOnRpecj
https://dl.doubtnut.com/l/_rEexT31dQuhh


23. The major product P in the following reaction is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3COH + C2H5OH
H +

−−→ P

(CH3)3COH(CH3)3

(CH3)3COC2H5

C2H5OC2H5

(CH3)2C = CH2

24. An ether, (A) having molecular formula, , when treated with

excess of HI produced two alkyl iodides which on hydrolysis yield

compounds (B) and (C ). Oxidation of (B ) gives an acid (D), whereas

oxidation of (C ) results in the formation of a mixed ketone, (E ) . Give

graphic representation of (A) to (E).

C6H14O

https://dl.doubtnut.com/l/_RJ1oH1cQBgjT
https://dl.doubtnut.com/l/_fFYPdtFGYhso


A. 2 - ethoxypropane

B. ethoxpropane

C. methoxybutane

D. 2 - methoxybutane

Answer: A

Watch Video Solution

25. HBr reacts with  under anhydrous conditions at

room temperature to give:

A. 

B. 

C. 

D. 

Answer: B

H2C = CH − OCH3

BrCH2 − CH2 − OCH3

H3C − CH(Br) − OCH3

CH3CHO and CH3Br

BrCH2CHO and CH3OH

https://dl.doubtnut.com/l/_fFYPdtFGYhso
https://dl.doubtnut.com/l/_vTihJMQr6PUj


Watch Video Solution

26.  


What is Y ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH
∣

CH3

− CH = CH2

( i )B2H4

−−−−−−−−→
( ii )H2O2 /OH

X
H2SO4

−−−→
140 ∘

Y

CH3 − CH
|  
CH3

− CH2 − CH2 − O − CH2 − CH2 − CH
|  
CH3

− CH3

CH3 − CH
|  
CH3

− CH = CH2

CH3 − CH
|  
CH3

− CH
|  
CH3

− O − CH
|  
CH3

− CH3

CH3 −

CH3

|  

C 
|   
C2H5

− O −

CH3

|  

C 
|   
C2H5

− CH3

27. The reaction 

 

https://dl.doubtnut.com/l/_vTihJMQr6PUj
https://dl.doubtnut.com/l/_B9XzXYdv5iiR
https://dl.doubtnut.com/l/_893MSagKLnQm


can be classified as:-

A. Williamson ether synthesis reaction

B. Alcohol formation reaction

C. Dehydration reaction

D. Williamson alcohol synthesis reaction

Answer: A

View Text Solution

28. Which one is the most acidic compound?

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_893MSagKLnQm
https://dl.doubtnut.com/l/_VH7t7kKxXr3Y


Watch Video Solution

https://dl.doubtnut.com/l/_VH7t7kKxXr3Y

